Absolute maximum ratings (Ta=25°C)
Symbol NPN Rl PNP Unit
VcBo 100 -100 \%
VcEo 80 -100 \%
VEBO ) \%
Ic -5 A
1B 0.5 -0.5 A
o 5 (Ta=25°C) W
25 (Tc=25°C)
Viso 1000 (Between fin and lead pin, AC) Vrms
Tj 150 °C
Tstg —40 to +150 °C
Bi—< 5 °CIW
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R1: 2.5kQ typ R2: 2.5kQ typ Rs: 200Q typ

=== Characteristic curves

Ic-Vce Characteristics (Typical) lc-VBe Temperature Characteristics (Typical)
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Electrical characteristics

(Ta=25°C)

IcBo 10 HA Vce=100V -10 HA Vce=-100V
lEBO 10 HA VEB=6V -10 mA VeEB=—6V
Vceo 80 \% lc=10mA -100 \% lc=—10mA
hre 2000 Vce=4V, Ic=3A 2000 Vce=—4V, lc=-3A
Vce(sat) 15 \Y Ic=3A, [B=6mA -15 \ lc=—3A, IB=—6mA
VFEC \% 1.3 \ IFEC=1A
trr us 2.0 us IFEC=£100mA
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